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Abstract. In this paper, we consider the sequence of financial markets with discrete time in the
scheme of series. We study the rate of convergence of put and call option prices for weak convergence
of risky assets’ prices in the discrete-time model to Black–Scholes model. This rate has the order
O(n−1), where n is the number of trading periods on a fixed time interval. To get this estimate of the
rate of convergence, the authors’ result is applied that concerns the rate of convergence in the central
limit theorem for identically distributed random variables, obtained by the method of pseudomoments.
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n)2 = VarRk
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�������� ����� � n�� ���
� ���� ������
�������� ��	� ����������� ���� � ���� 

����! ��� rk
n = μk

n� ��� μk
n − (σk

n)2

bk
n−μk

n
< rk

n < μk
n� ��� μk

n < rk
n < μk

n + (σk
n)2

μk
n−ak

n
� 1 ≤ k ≤ n"

#��������" ������ ���	
� ΔMk
n � ��
����

ΔMk
n = ϕk−1

n

(
Rk

n − μk
n

)
,

�� ���	����	 �������	 ϕk−1
n ���� Fk−1

n ���������� �������� ϕk−1
n � Rk

n ��� �����
����
� ���	�������� ��������������  !" �����
��� �� �	�
����
�#

μk
n + ϕk−1

n (σk
n)2 = rk

n,

������ ���
	$��� %� ϕk−1
n $ �����	������ � �������$

ϕk−1
n =

rk
n − μk

n

(σk
n)2

,
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� ΔMk
n �	$ ��
���  &'"� ���	���
�	����
� ����� �����	���
�	 ��������������

ΔMk
n > −1 ����� 	��

(rk
n − μk

n)(Rk
n − μk

n) + (σk
n)2 > 0 ����  &&"

(��
������ 
�� ���	����

(a) )�%� rk
n = μk

n� 
� ��������������  &&" ������$
����
(b) *�+	, rk

n > μk
n� -���  &&" �����	�� ����� ��%�

(rk
n − μk

n)(ak
n − μk

n) + (σk
n)2 > 0,  &."

��� ���� ak
n < μk

n� �������� �������� Rk
n �	 �����%����� ����������, �

�����������, �	 [ak
n, bk

n]� -��� ��������
�  &." �����	���
�	 ��������
�

rk
n < μk

n +
(σk

n)2

μk
n − ak

n

.

(c) /��	��� rk
n < μk

n ���
���	$
��� 	�	��
�����

0��� ��������� �

*������
� ������ ���������
� ���	������� � ��������
� ���	������� �������
�	�� {Rk

n, 1 ≤ k ≤ n} � ����������� ���������� �������� �	 ���	
����+ ����� %�
����%��
� ��
�	��� � 
�+�����1 
���� ����� 2	��	����� %� �	�
���� �����%����
$ ���������� ��� ������ ����� � �+��� ����,�

���� ���� $� �� ����������� ����� ���� %"&� � ����� �����! 
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0 < α < β ���
� 	� ��� ��
 1 ≤ k ≤ n

α < |ak
n

√
n| < β, α < |bk

n

√
n| < β, α < |μk

nn| < β �� α < |rk
nn| < β.

'��
 �
�������� ����� � n(� ���
� ���� ������
������� 
 ��
������ ��	� n > 64β8

α8 "

#��������" ������ ���	
� ΔMk
n ����	 ������	��# 
	�� �� � ���� 3�&� � � ��
����

ΔMk
n,1 = ψk−1

n

(
(Rk

n)3 − E(Rk
n)3
)
,

�� ���	����	 �������	 ψk−1
n ������	 ��
� Fk−1

n 4���������
5���	���� Var(2) Rk

n := E(Rk
n)4 − μk

n E(Rk
n)3� 2	 �����%��� �	 �������� Rk

n

Var(2) Rk
n > 0 � ψk−1

n = rk
n−μk

n

Var(2) Rk
n
� 5�� �����

Var(2) Rk
n >

α4

n2
− β

n

β3

n
√

n
>

α4

2n2
, ��%�

β4

n2
√

n
<

α4

2n2
, 
��
� ��� ���+ n >

4β8

α8
,
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n|
Var(2) Rk

n
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n

2β3

n
√

n
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<
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√
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���� n > 64β8
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 �� �
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}
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n
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���� ���������

f∗n(x) = C(1)
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Xn(t) = S0
n

[nt]∏
k=1

1 + Rk
n

1 + rk
n

, tkn ≤ t ≤ tk+1
n , 0 ≤ k ≤ n− 1,

�	 [a] *(��� �����
� ����� a�
∏0

k=1 = 1� �	��� ��������� �	����
� {Rk
n, 1 ≤ k ≤ n}
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�
�� ����� �	�� ���� - �	��
 �	�
��
�$� ���� 	

�� �����������  �
S0

n = 1� ��$�������  � ���
��
� �����
$���
�. ���� P ∗n � ����
�. �������
�/	

���
0�1 �� 0�21� ��������� �	����
� {Rk

n, 1 ≤ k ≤ n} 
	���	!
� � �����
���� ��� ���(	
���
���� EP∗n Rk

n = rk
n� 3������� $��
��
� �	��	�� #��	 �'���������
� � �	���
��

(��. �����
$���
�. ����� ��  	 ��	�	�� ���
��	

� (σk,∗
n )2 = VarP∗n Rk

n�

������� ��	� (i) 
���� �
������� ���
�
�
 {Rk
n, 1 ≤ k ≤ n} �������������

����
 ���
 �	�� ��
����

lim
n→∞ max

1≤k≤n
rk
n = 0, lim

n→∞

[nt]∑
k=1

rk
n = rt > 0, lim

n→∞

[nt]∑
k=1

(σk,∗
n )2 = (σ∗)2t > 0, 0 ≤ t ≤ T.

���� �������� ����
� ����
� ��� P ∗n � �����
� ���������!�����
 041 �� 0�21
��" ���#� ���$�� �$������� ����������
����
� ����������%

Xn(t) d→ exp{σ∗Wt − 1
2
(σ∗)2t}, 0 ≤ t ≤ T,

�� W = {Wt, 0 ≤ t ≤ T } & ����������
� ���#��	

(ii) 
���� �
��������� ����
 ������ (i)� � ���� �� �� ����" ����� C > 0 �����

'�
[nt2]∑

k=[nt1]+1

rk
n ≤ C(t2 − t1),

[nt2]∑
k=[nt1]+1

(σk,∗
n )2 ≤ C(t2 − t1)
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Xn(t) W→ exp{σ∗Wt − 1
2
(σ∗)2t}, 0 ≤ t ≤ T.
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���
 ���������� ��������� ��������
��
�� T = 1� � tkn = k
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(i) !�"�#�
� ���	$� �	������� �#��"�
����� �����#���"� � ���	$� �	������� �$�����%
��"�
����� �����#���"� " ���� ������������ "���#$�"�� "������� � "�$���������
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���'(��#�� #�"�#����� ���������� !�� �#��"�
����� �����#���" 
�)

��*� *��������� �������� �����
� !�+���� ��#�
� #�� 	�#�%�$��� ,�$��"�����
0 ≤ t ≤ 1 "���#$�"� "������� log Xn(t) � "����#�

log Xn(t) =
[nt]∑
k=1

(
log
(
1 + Rk

n

)− log
(
1 + rk

n

) )
. ����

-����� �� ,��
���
 -�+����� #�� #��$�. �����. c > 0

log(1 + Rk
n) = Rk

n −
1
2
(Rk

n)2 + α(Rk
n) · (Rk

n)2, ��/�

#� |α(Rk
n)| ≤ c√

n
� �

log(1 + rk
n) = rk

n −
1
2
(rk

n)2 + β(rk
n)(rk

n)2,

#�
∣∣β(rk
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n| 0 �����"����
 *�� ���$��#�"�

log Xn(t) +
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2
=

=
[nt]∑
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(
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n − rk
n +

1
2
(rk

n)2 − 1
2
(Rk

n)2 +
1
2
(σk,∗

n )2
)

+
[nt]∑
k=1

[
α(Rk

n)(Rk
n)2 + β(rk

n)(rk
n)2
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ηk
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1
2
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1
2
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n)2 +
1
2
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n )2,
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n)(Rk
n)2 + β(rk

n)(rk
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2�� *��
�∣∣∣∣∣∣
[nt]∑
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[
α(Rk

n)(Rk
n)2 + β(rk

n)(rk
n)2
]∣∣∣∣∣∣ ≤ [nt] ·

(
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n
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+ c max
1≤k≤n
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n)2
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n → 0, ��� n →∞


 � � ��
� *� "������� �� "���"�
�� �� ��# ��#���3��� #�"�#���� !����

EP∗n ηk
n = 0, � VarP∗n ηk

n = (σk,∗
n )2 + δk

n, #� |δk
n| ≤

c

n
√

n
.

-���� � "�$���������
 �
�"� (i)� ���	$� �	������� log Xn(t) #� Wt − 1
2σ2t "����"�)

� *���������. ��������. �����
� � ,��
� 4��*�$��� �#�" 567� 
(ii) -���� #�� #�"�#���� ���	$�. �	������� 
�� #�������� #�"���� .� ���	$� $�
%

��$������� #�� ����� " �"�
 ����� #�������� #�"����� �� ����) ��$� ����� C > 0� ��
#�� "��� n ≥ n0 � 0 ≤ t1 ≤ t2 ≤ 1 "�$���)���� ���""�#��3����

EP∗n |log Xn(t2)− log Xn(t1)|2 ≤ C(t2 − t1).
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EP∗n |log Xn(t2)− log Xn(t1)|2 = EP∗n

∣∣∣∣∣∣
[nt2]∑

k=[nt1]+1

ηk
n +

[nt2]∑
k=[nt1]+1

ηk
n

∣∣∣∣∣∣
2

≤ 2 EP∗n

∣∣∣∣∣∣
[nt2]∑

k=[nt1]+1

ηk
n

∣∣∣∣∣∣
2

+ C(t2 − t1)
(

1
n

+ max
1≤k≤n

(rk
n)2
)

.

"��� ���� �������#� ����	�	 an(t1, t2) := EP∗n

∣∣∣∣∣ [nt2]∑
k=[nt1]+1

ηk
n

∣∣∣∣∣
2

$ %��

an(t1, t2) ≤ 2
[nt2]∑

k=[nt1]+1

EP∗n

(
ηk

n

)2 ≤ 2
[nt2]∑

k=[nt1]+1

(
(σk,∗

n )2 + δk
n

) ≤ 2C(t2− t1)+
2C(t2 − t1)√

n
,
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�
������ �����
����	� ��������	� �	��
���	� ���	�	� �� ��
�
��

����
������
��

&���� �	����'�#�� ����	 
����� (i) ������	 ($�$ "���
 �������
 � ������ T ��!
����� �������#�� )���	 �� �������
 � ����*

Xn(T ) W→ exp{σWT − 1
2
σ2T }.

+	 �	���	���!�� � 
����#���� ��� �����#��� ��� �����	 ��	������ �,�-�����
��� �
������ ��
���� �� 
����-� � �	���������  ��� �� ���
�����	� ��� �� )���	 ��.
�� �	��� � ��
������	�  ����$ /�� ���	����� ������0 �����	 ��	������ �,�-�����
�������!�� �����#��� �� 123
 4� �����!�#�� ��	������ �,�-����� � �������#��� )���	.
 ��� ������� ��� �������� ���
������	� ������-�	� �	
�����	� ���	 	�
 ����-���0
�� ������� 
�������������
 ��	� �5�����'!�� �����
�	�  	���$

&���� {ξn, n ≥ 1} � 
�����������# �������� ���
������	� ������-�	� �	
�����	�
���	 	� � E ξi = 0
 Var ξi = 1
 5�����!' ���
����� F (x) � ��������	��	 ��' 5��.
���!' f(t)$ &���� Φn(x)
 x ∈ R � 5������ ���
����� �	
������0 ���	 	�	 Sn =
n−1/2Σn

k=1ξk, � Φ(x)
 x ∈ R � 5������ ���
����� ����������)� ������#��)� ������$
6�	
���	��
 4� ��� �����)� m ≥ 3 ����'�# 
�����������	

μk =
∫

R

xkdH(x), (k = 3, . . . , m, m ∈ N),

�� H(x) = F (x) − Φ(x)$ 7������ ���	 	�	
 ��� ,����� ���	���	 ������	�	 
�����.
��������	$ 6�����������	
 8������� ������9
 �	��� �'�#�� 5������'

ν(1)
n (m) =

∫
|x|≤√n

|x|m+1 |dH(x)| ,

� 8������� ��	��9
 ���
������
 �	��� �'�#�� 5������'

ν(2)
n (m) =

∫
|x|>√n

|x|m |dH(x)| .

������� ��	 �123�� ����� ���	
��
��� 
��
��
� ��	���

(i) �����
����
��
� ��
���� �

���	�
�� 
	�
	
∫

R
|f(t)|dt = A <∞�



��������	 
���
���� ��
 �����
�� ���

(ii) �����������	
 �� ���
��� m ������� ��������	� ����� � ������� �������

�����	
 ���������

μk = 0, k = 3, . . . , m, ��
 ��
���� m ≥ 3

� ���� 	���� ���
����
 � ��
���� ������ n0 ∈ N

νn(m) = max
{
ν(1)

n (m), ν(2)
n (m)

}
<

1
2
e−

3
2 .

���� ��� ���	 n ≥ n0

sup
x∈R

|Φn(x) − Φ(x)| ≤

≤ 2C(1)
m

ν
(1)
n (m)

n
m−1

2

+ 2C(2)
m

ν
(2)
n (m)

n
m−2

2

+
A

π
bn−1 + νn(m)

4e
3
2

π

e−
n
2

n
=: Θn(m),

�


C(1)
m =

12
m+1

2 Γ(m+1
2 )

π(m + 1)!
, C(2)

m = 2C
(1)
m−1,

b = exp

{
− π2

24A2 (2 + π)2

}
< 1.

�������� 	
� �����
 �
	�
 �
���
��� �������� ��������
�� ��������� �
������

{ξn, n ≥ 1} � E ξi = 0� Var ξi = 1 ����� ���
�
�� ��������� ���������� p(x) ≤ A1�

����������� �� ������ ���� ����� (ii) �
��
�� !�"� ���� ��� ���	 n ≥ n0

sup
x∈R

|Φn(x) − Φ(x)| ≤ 2C(1)
m

ν
(1)
n (m)

n
m−1

2

+ 2C(2)
m

ν
(2)
n (m)

n
m−2

2

+ 2A1b
n−2
1 + νn(m)

4e
3
2

π

e−
n
2

n
,

����

�
 b1 = exp
{
− 1

96A2
1(2+π)2

}
< 1�

��	
�	�
�� ��	����� ��� �� ���������� �������� �� ���
� � ��!��� ������	
�
"�#������� #�	�"��!��� �� � ��!����� ��
�"����� � ��������� m = 3� $��"!���
��	
����% "�#���
�
�

�
�� 	
�
 �
	�
 ��������� �
������ {ξn, n ≥ 1} ������������� ����� ��������

!�"� ������� #	��
 �������� ���
�
��
�� �� �
����� ���
����� [a, b]� �
	�
 ��� ���	

n ≥ n0 ������ ���� ����� ν
(1)
n (3) < 1

2e−
3
2 � ���� ��� ���	 n >

(
16e

5
2√

2π
) ∨ n0 �� ��

�$����

sup
x∈R

|Φn(x) − Φ(x)| ≤ ΔnΦ :=
3
π

e−3/2

n
+

2
√

3e−3/2

√
πn3/2

+ 2A1b
n−2
1 +

2
π

e−
n
2

n
. ��&�

%��
�
���� �����!���� �� �"� m = 3

C
(1)
3 =

122Γ(2)
π · 4!

=
6
π

, C
(1)
2 =

12
3
2 Γ
(

3
2

)
π · 3!

=
2
√

3√
π

, �
!� C
(2)
3 =

4
√

3√
π

.

$'�����

ν(1)
n (3) =

∫
|x|>√n

|x|3 |dH(x)| ≤
∫
|x|>√n

|x|3dF (x) +
∫
|x|>√n

|x|3dΦ(x).

(���
√

n > |a| ∨ |b|� 
� ∫|x|>√n |x|3dF (x) = 0� )���"�∫
|x|>√n

|x|3dΦ(x) = 2
∫ ∞
√

n

x3 e−
x2
2√

2π
dx =

4√
2π

∫ ∞
n

ye−ydy ≤ 4√
2π

(n + 1)e−n.



��� �� �� ��	
�� � 
� �� �
����

�������� ex > x2

2 � 	
 4√
2π

(n + 1)e−n ≤ 8e√
2π

1
(n+1) < 1

2e−
3
2 � ���
 n > 16e

5
2√

2π

 �
�	
�

��� n >
(

16e
3
2√

2π
)∨n0 ���
���	��� ��
�� ���� ��
���� �
�� 
	��� ��� ����� 
����� �����

���  ���!������� 
�������!  ��"��� �
�#�����	��� $���	�
�%�	��� �� ��&�
 �

���������� �
�	 '�������
� �
 ����$	
	�"�
 $�� n → ∞ � $����( "��	��� ��&�

)
�
��� �
�� )��� �
���
� 3
π

e−3/2

n = O( 1
n )� � ��*� �
����� ��%	� ���*�( $
���
�


�
���  ���!������� ������
�	� |Φ(x)−Φ(y)| ≤ 1√
2π
|x−y| ��� $
����*�!  ��	
������

�#
����%��
 ���	�$�� 	���������+ ��!�( ��$���
�� ����"��� {ζk
n, n ≥ 1, 1 ≤ k ≤ n}

 ��
�
����%	� ���	�$�� ��
��+
(A) n−1/2Σn

k=1ζ
k
n = n−1/2Σn

k=1ξ
k
n + Cn

n � �� ��$���
�� ����"��� ξk
n $�� �
��
�� n

 ��
�
����%	� ��
�� ���� �
�� � |Cn| ≤ C , 
������� "���
�� $
����
����	�

�
��

sup
x∈R

|P{n−1/2Σn
k=1ζ

k
n ≤ x} − Φ(x)| ≤ Δ(1)

n Φ :=
3
π

e−3/2

n

+
C√
2πn

+
2
√

3e−3/2

√
πn3/2

+ 2A1b
n−2
1 +

2
π

e−
n
2

n
.

��$�� �������
 ��
�� �� ��$���
�� ����"��� {Rk
n, 1 ≤ k ≤ n}� �
  ��� $�"�	�

���
����� ��� ��� ��	���� �� #�����
��! �����!  ������	��� "��
� ��
�� (A)

-$
"�	�� �
�����
 	���( �
$
�����( �� ���	�	
 .��� C �����
 $
 ��"�	� �	����
�
 �
��  ���%��	��� ��� ����� �
 ����� � "��  ��"���� �� � ��������


���� ���� 
���� �
�������� ������ � ����
� ���
� � �
����
����� rk
n = r

n 	 
��

��� ����� ��������
 �������� {Rk
n, 1 ≤ k ≤ n} ������������� ����� ����  	 


��������� �����∣∣∣ r
n
− μn

∣∣∣ ≤ Cσ2
n ,
∣∣E(Rk

n)3
∣∣ ≤ C

n2
, �� |E(Rk

n)4 − μn E(Rk
n)3| ≤ C

n2
.

!��
 ��� ������� ������"� ������� �
������ ������"������ �
��# ������� ��
��
��

��$������ ��� �� ��/�# ��� �
�%� �%
���∣∣EP∗n(Rk
n)3
∣∣ ≤ C

n2
.

&��������	 �������� |μn| ≤ C√
n
� 	
 ��%	� ����� 	��� �$������
*���� 	� 
�����∣∣EP∗n(Rk

n)3
∣∣ = ∣∣E (1 + ΔMk

n

)
(Rk

n)3
∣∣ = ∣∣∣∣E(Rk

n)3 +
r
n − μn

σ2
n

E
[
(Rk

n)4 − ERk
n E(Rk

n)3
]∣∣∣∣

≤ ∣∣E(Rk
n)3
∣∣+ C|E(Rk

n)4 − μn E(Rk
n)3| ≤ C

n2
+

C

n2
≤ C

n2
.

�

0 ��
��! ���� �
1 $
 ��"��
 (σ∗n)2 = VarP∗n(Rk
n)


��	
��� ���� 
���� ��������
 ��������

ξk
n =

√
n

(
Rk

n −
1
2
(Rk

n)2 +
1
3
(Rk

n)3 − 1
3

EP∗n(Rk
n)3 − r

n
+

1
2

r2

n2
+

(σ∗n)2

2

)
������������� ����� ���� '	( 
 ����������� ����� ���� '	)# ������� |n(σ∗n)2 −
(σ∗)2| ≤ C

n 	 !��


sup
x∈R

∣∣∣∣P{log Xn(T ) +
1
2
n(σ∗n)2 ≤ x

}
− Φ

(
x

σ∗
√

T

)∣∣∣∣ ≤ C

n
.



��������	 
���
���� ��
 �����
�� ���

���������� �� � � ��������� 	��
��� 
��� �� ��������� ���������	� � � ��	�� 	��
�������� ��
����� �
����	���� �� T = 1� ! tkn = k

n � "��������

ζk
n√
n

= Rk
n −

1
2
(Rk

n)2 +
1
3
(Rk

n)3 + α

(
C√
n

)
(Rk

n)3 − r

n
+

r2

2n2
+ β

(
C

n

)
r2

n2
+

(σ∗n)2

2
.

# ������� 
������
��$ �����	����$ �	���� ������	�����% &�����% �
�&�� ������'
��
������� ���� ��

Xn(1) =
n∏

k=1

1 + Rk
n

1 + rk
n

=
n∏

k=1

1 + Rk
n

1 + r
n

=
(
1 +

r

n

)−n n∏
k=1

(1 + Rk
n).

( �
������� � ��������� ��������� 
������ )�%��
� �� ���������$ ��������

log Xn(1) + n(σ∗n)2

2 ������' ���� ��

log Xn(1) +
n(σ∗n)2

2
=

n∑
k=1

ζk
n√
n

,

�
�����
n∑

k=1

∣∣∣α( C√
n

)∣∣∣ |Rk
n|3 ≤ C

n �
n∑

k=1

∣∣β (C
n

)∣∣ r2

n2 ≤ C
n2 � ���� �������	�� �����

���� *�+� 	� 
������ )�%��
� ������' ���� ��

log Xn(1) +
n(σ∗n)2

2
=

n∑
k=1

ξk
n√
n

+ Sn,

�� Sn ≤ C
n � "
� &���� EP∗n ξk

n = 0� � EP∗n(ξk
n)2 = n(VarP∗n Rk

n + Cn

n2 ) = (σ∗)2

2 + Cn

n � ��

|Cn| ≤ C� ,	��� ζk
n ��������� �	� ����� (A)� ������ �������' �������� � �

-� ������ ��	
���
� �������
� ��� �������� ������� 
� ���
���

.���� ���� '�
���%���� ��&���� ������� 	� �
����� C = (ST −K)+ 	� P =
(K − ST )+� /���% ���� 
���� ���	�� �� 0��������� 
����� � ����
�	��� ������
������� 0�
������ 1�2 � 1+2� �
����� � �����% ��
�$ rk

n = r
n � �� r > 0 3 �� �� ������

��������� �������� {Rk
n, 1 ≤ k ≤ n} ���������� �������� 
���������� � ��������� �

�	� ����� ���� 4�4� 	��	� 
���� ' ����
��	
������ (�0����'�� ��
	�������� ��
�
P∗n� ������ ���������5��� �� 142 	� 1�62� ��������  ��$�  � ���� �������� � ����
4�
� ���
���'	�� ����������	� ���������� ������� {Rk

n, 1 ≤ k ≤ n} � EP∗n Rk
n = r

n �
"��������

Qk
n =

1 + Rk
n

1 + rT
n

, Y k
n =

√
n

(
log Qk

n +
(σ∗n)2T

2

)
, 1+62

	� Φ̃n 0���&�� 
�������� ���� n−1/2
∑n

k=1 Y k
n � /��	����% 
�����	�	 ' ���������

��������� 	��
��� *�+�

���� ���� 	�
�� 
������������ ���������
 �������� ���
�������
 ��
������
 ���

����� {Rk
n, 1 ≤ k ≤ n} ����������� ����� ������� ���� ����

sup
x∈R

∣∣∣∣Φ̃n(x)− Φ
(

x

σ∗
√

T

)∣∣∣∣ ≤ C

n
. 1+�2

.���� ���� ��&���� ������� C = (S−K)+ 	� �
����� P = (K−S)+ �� ��	�� S � ��
�	
�%����� &���� K� .���� ���� ���
������ 
���� � ������ ���� 4�4 � �
������%

���� 7����38������ "�������� ��
��

π(Cn) = EP∗n

(
Xn(T )−K

(
1 +

rT

n

)−n
)+



��� �� �� ���	
� � �� �� �	
���

���������	�
 ���	�
����
 ���
 ������
 �
����� � ����	������ ���
�� �������� �	��
����	����� ���� �	�	��� ���������� ��� �	 ����� � �
�
� π(C) ���
  �
�	!"�
��	 �	
������ �
����� � ���
�� T � �� ���	�����# ����# K� ����������# ��	���# r � ����
��
��$# (σ∗)2� 	 �	��% �
�
� π(Pn) �	 π(P ) ����	���� ���������� ���� �������� ����	%
&

������� ��	� ����� ���	
���

��� 
���	��
�� ��
����� ������
	�
�� ����������

��	���
 {Rk
n, 1 ≤ k ≤ n} ������	�
�� ����� ������� ���� ���


|π(Cn)− π(C)|+ |π(Pn)− π(P)| ≤ C

n
.

������

�� '
(	� �� �	�%�� � ���
�
���(� T = 1& )������
�� ������ ����	%
� 	 ��
���������*
�� �	���
�
 ��� ����	�����( � ��	�����( ��������

π(Cn) = π(Pn) + S0
n −K

(
1 +

rT

n

)−n

�	 π(C) = π(P) + S0 −Ke−rT

������	$� +� ��� ������
 �
����� �����	 ��������
 	�	������
 *�������� �,�%�����&
-	��*
�� �	��
��� ��������� � 
�	(
�	���� ����	�
�� �.��� �
��
�� /&.� �
�
���	�

���
��
�	��� �� �	����	(� 0���
��  �
�	!"�
��	� �	���	��� ��� ���
��
 �	�
� +�

������#$ �� 	 �	��% ��
������ �
��������
∣∣∣e−r − (1 + r

n

)−n
∣∣∣ ≤ C

n 1∣∣∣π(Pn)− π(P)
∣∣∣ = ∣∣∣EP∗n

(
Xn(1)−K

(
1 +

r

n

)−n)+

− π(P)
∣∣∣

=
∣∣∣EP∗n

(
K
(
1 +

r

n

)−n

−
∏

1≤k≤n

Qk
n

)
− π(P)

∣∣∣
=
∣∣∣ ∫ K

(
1+ r

n

)−n

0

P∗n
{ ∏

1≤k≤n

Qk
n ≤ y

}
dy −

∫ Ke−r

0

Φ
( log y + 1

2 (σ∗)2

σ∗
)
dy
∣∣∣

≤
∫ Ke−r

0

∣∣∣P∗n { ∑
1≤k≤n

(
log Qk

n +
(σ∗n)2

2

)
≤ log y +

1
2
n(σ∗n)2

}
−Φ
( log y + 1

2 (σ∗)2

σ∗
)∣∣∣dy +

C

n
≤ C

n
,

������ � ������	$ ���
�
���& �

�������

� 2&�� 3�
������ +� ��#����� ���
���� � ���
�
��� �
��
�� 2&� $ �����
�	 �.��& 4��
 �
��
�	 2&� $ �����# �	 �����	��� ��$� �
��������� �
�	�
%�� ��� ����
�� ����������
$���� ��� �� �
�
����� �
��� ��
������
���� ���� ��%
 �	�� �	�

*�������� �,�%����� �� ��*��& 5�
 �	���� �	 
���� �����+
��� *�������� �,�%���
��� � ������ �.�� ���
�
��� �
��
�� 2&� ����	$���� �	 ���	����� ������� ��� �	#��
��
����
 *�������� ������
 1/n� ���
 ������� �����+
��� *�������� �,�%����� ���
�������� � �	��� ���
�� ��	$���� �
��%�����&

6& �������

'	�
�
�� �����	� 0
����� ��������
� ��	 �	��������$ 
���� �	�����
 /&�& '
(	�
a > 0� θ > 1� � ,
�
�� ��	%	��� +� a 0�����	�
� 	 θ > 1 +
 ��
,	 ����	����&
)������
�� ���
�����
 0
����# ��������
 F (x)� ��	 ��� x ≥ 0 ������#$

F (x) =

⎧⎪⎨⎪⎩
Φ(x), ��+� x ∈ [0, a]7
Φ(a) + 1−Φ(a)

aθ−a (x− a), ��+� a < x ≤ θa7

1, ��+� x > θa&
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�� μ1 = 0 � μ3 = 0� ��
����� μ2� ��� ����� �� ������� ��������

σ̃2 =
∫ a

−a

x2dΦ(x) +
∫

a<|x|≤aθ

x2 1− Φ(a)
aθ − a

dx = 1− 2
(∫ ∞

a

x2dΦ(x) − 1− Φ(a)
aθ − a

x3

3

∣∣aθ
a

)
= 1− 2

(∫ ∞
a

x2dΦ(x) − (1− Φ(a))
a2

3
(θ2 + θ + 1)

)
.

��������	 
�
∫∞

a x2dΦ(x) ≥ a2(1 − Φ(a))� !���
���� γ :=
�∞

a
x2dΦ(x)

a2(1−Φ(a)) > 1� ������

������
"	 
� ����" θ > 1 �
��	 
� 1
3 (θ2 + θ + 1) = γ	  �����  �
#�����	 
� $��
�� θ

������%"

θ = −1
2

+

√
3γ − 3

4
.

!�� �����  �
����� θ∫ ∞
a

x2dΦ(x) − (1− Φ(a))
a2

3
(θ2 + θ + 1) = 0,

���� σ̃2 = 1� � �� 	 
	�� ��
�� �������� �� μ2 = 0� ��
������ ��	������ γ �� �������

	�� a� ��� ����� 		����� ����������

y =
∫ ∞

a

x2dΦ(x)− a2(1− Φ(a)), y ≥ 0.

�������� �� ����!

y′ = −a2ϕ(a)− 2a(1− Φ(a)) + a2ϕ(a) = −2a(1− Φ(a)) < 0,

�� ϕ(x)� x ∈ R " ������
�� 
�����
����� ��
�������� 
��������� #�$�� y 
�������

�
���% �� 0 �
� a →∞�

&���'� ����� ��
��
�	���� �
�	��� (�������� �������� ��
����� �
�����

lim
a→∞

∫∞
a x2dΦ(x)

a2(1 − Φ(a))
= lim

a→∞
−a2ϕ(a)

2a(1− Φ(a))− a2ϕ(a)
= 1,

�
������

lim
a→∞

a(1− Φ(a))
a2ϕ(a)

= lim
a→∞

(1 − Φ(a))
aϕ(a)

= lim
a→∞

−ϕ(a)
ϕ(a) + aϕ′(a)

= lim
a→∞

−e−
a2
2

e−
a2
2 − a2e−

a2
2

= 0.

#�$�� γ → 1 �
� a →∞� ���� θ = − 1
2 +
√

3γ − 3
4 → 1 �
� a →∞�

)��������� �
�	���������

ν4 =
∫ ∞
−∞

x4d |F (x)− Φ(x)| = 2
∫ ∞

0

x4d |F (x)− Φ(x)|

= 2
∫ aθ

a

x4

∣∣∣∣1− Φ(a)
a(θ − 1)

− 1√
2π

e−
x2
2

∣∣∣∣ dx + 2
∫ ∞

aθ

x4dΦ(x)

≤ 2
5

1− Φ(a)
a(θ − 1)

a5(θ5 − 1) + 2
∫ ∞

a

x4dΦ(x) +
2
5
ϕ(a)a5(θ5 − 1).

#�$�� ν4 → 0 �
� a →∞� *�� +���'�� ��� +���,����� n ≥ 1

ν(1)
n (3, a) :=

∫
|x|≤√n

x4 |d (F (x) − Φ(x))| → 0, a →∞.

*��� ��$�� 	�+
��� a0 > 0 ����� ������ ��+ ��� 	
� n ≥ 1 	�����	���
� ��
�	,

��
�� ν
(1)
n (3, a0) < 1

2e−
3
2 � #��	����� ��

ν(2)
n (3, a0) :=

∫
|x|>√n

|x|3 |d (F (x)− Φ(x))| → 0, n →∞.
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� νn(3, a0) = max
{
ν

(1)
n (3, a0), ν

(2)
n (3, a0)

}
< 1

2e−
3
2 �

����� �	������ ����� (ii) ������	 ���� � � �	�� ����������� 
��������� �������
��������� F (x) ����������
 ����	 �������� ��� ��	 m = 3 � n ≥ n0�
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